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Full Marks : 80
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The figures in the margin indicate Jfull marks
Jor the questions

1. Answer the following questions : 1x10=10
OO PTYRY ©eq fir

(a) Define macroeconomics.

TR ST wt f |

(b) Give the meaning of Gross Domestic
Product.

0 T oot o gt |

(c) What is disposable personal income?

Jfesre A Sy 769
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(d) Are illegal activities included in national
income? Give one argument.

- @R PRFEAPTER SO WIS ATGE A ?
<ot 3 |

(e) Distinguish between paper money and
credit money.

PTG @l AE A9 @R e A By w9

() Define general price level.
YR FEE RS ol |

(g} What is money Supply',)
g Qe fe?

(h) What is liquidity trap?
O FW 62

(i) - Define ‘inflationary gap’.
TErRfe Fe' K@ |

() In which case is LM curve vertical?

¢ Fqe LM @3IcE Serg 239

( Continued )
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2. Answer the following questions : 2x5=10
©od TR Bed i

(@)

(b)

()

(@)

(e)

A23/752

Why is national income measured in
money terms?

Ty Wy Y q@E YgES @) R ™2

Distinguish between gross investment
and net investment.

P R wF wa R Gde oyet)

Mention any two basic issues studied
in macroeconomics.

RS wdffes s F9 R @I o =\
R S 4|

Distinguish between consumption goods
and capital goods.

(Sl ¥ |F Tl G99 LT @yt |

Mention two types of transactions that
are included in the capital account of

balance of payments.

oifely STOR TRl oS Swve @[ gy
EE AP S 41
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3. Answer the following questions (any four) :

5x4=20

oo aepiEd Bed fordt (R celtt wif)

(@)

(b)

(c)

A23/752

Explain the product and expenditure
methods of computing national income.
On what basis do they give identical
result? 4+1=5

SIS W oA G SF T S ol
1 791 | B R T SROE G T
e ?

Define consumer price index number.
What are the uses of consumer price
index? N+3=5

TorSIG {5 K@ il | SoeIe
e IR 67

State the various items of the current
account of balance of payments

account. Also, define balance of trade.
4+1=5

e Feie dlere ol RKfer SAmePi
Je ¥4 TR ToRe Afifge FweR w@
fora |

( Continued )
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(d) What is meant by demand for money?
Explain the various types of demand for

money. 1+4=5

R o & gem? R osime Rfew
AR 0T

(e) Explain clearly demand-pull inflation
with the help of diagram.

g TRES v ErEfs =E
At F40

(/ What does the IS curve depend on?
Discuss the main features of the IS

S

curve. 1+4=5

IS @3ele 529 eoige fAde @7 IS @ISR
T EREPENR SCEnl 4 |

Answer the following questions :
SO A Ted Tl

(a) Explain the circular flow of income in a
three-sector economy.

@47 TS Sdaifes SR HE o IR0
24|
Or [ 9241

Critically explain the cash balance
approach to the quantity theory of

10x4=40

10

money.
P B 1521 L S B IR oEw!
SIEEPeE Tl P9
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(b) How do commercial banks create credit? (d) Explain the Keynesian model of income
What are the limitations on the power of determination. 10
banks to create credit? 7+3=10 @3 o R SiEE T 49|
ST @ @EME A @R FE? @]

Or [ 9241
Yo @l ffeq TR AEmernz 52
Explain Hicks-Hansen general equilib-
Or / &3t 1 rium model using IS-LM curves.
Rg-ZOR YR SRPIGE SIRG! 1S-LM
TR TRIFS G A1

“The distinction between cost-push and
demand-pull inflation is unworkable,
irrelevant and even meaningless.” Do
you agree with this view? Give reasons

in support of your answer. 10 * kX

“qE-grifre @i bifta-gte  qErRes
A1 TPILF, AANHE SF A G2 |7
O 42 ToF L A ? (SN TGH T

e |

(c) Define monetary policy. Discuss the

objectives of monetary policy. 2+8=10
ooy @l @A Sz
STl 47 |

Or [ 34t

Critically explain Say’s law of market. 10

('3 3@ RICG! TIEISITrS iyt s |
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for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

woTo PR ot St See

(a) Write a triangular matrix.

aﬁ%ﬁa@wﬁml

(b) State the condition under which the
production function Q=AK%I? is a
linearly = homogeneous production
function.

Q = AK®IP AW TR AR T
P BAAe T (RN B! ferdi |
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{c) The function f is called homothetic if
flx)=fly)= flx)= flty), t>0.

( Write True or False )

f Tl R X fiy
fx)=fly)= fltx)= f(ty), t>0.

( o] & wPrey forat )

(d) Give an example of an implicit function.

B! TEHES T SurRed o |

(e} Write an identity matrix of order n.

nIqE G5t Tren (Naew ot

(f/ Economists call Lagrange multiplier j
a

( saddle point/shadow price )
( Fill in the blank )

Al e AT gdafeRmmE oGl

|

(Rt R/ @it )
( 40 512 o=t w4t )

A23/753 ( Continued )

(g)

()

(1)

A23/753

What is the norm of the following
matrix?

oo ol (oo afone [ 299

i)

=2
e
(i) 10
(iv) - 10

( Choose the correct answer )

( = Tl Iy Sfredl )

State mathematically the necessary
condition for equilibrium of a price
discriminating monopoly market.

7 [Uehige GFHoRI IERE Sy e
@ e Sifafes vow! forat |

If we interchange any two rows or two
columns of a determinant, then its
value remains unchanged.

( Write True or False )

3 B! 4 15! #1115 T ATt
2, (S8 [ T GF AT fre bz i = |

( 9 & =Py fearat )
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() What is the trace of a skew-symmetric (d) What will be the solution of the
matrix? following  difference  equation by
iterative method?

oo gl (on ANFIIGR Awsofere rafos
e [ 2'39?

fofe-mfie (eesy SEd & 297

2. Answer the following questions : 2x5=10 ' Y141-0-3y;, =0

were il eppTEd Ted i
(e) What value must x have so that the

(a) Distinguish between a scalar and a following matrix A does not have an
vector. inverse?
et qif o sAfet R ArES @y fort s Tl A (Arsrio SfeEN AR W 5J
. T & 23 #fR?
(b) Differentiate x* +y* =25 implicitly. . ‘L s [1 2+ x]
waiiEe T x* +y? =257 W ffy A
41
" 3. Answer the following questions (any four :
-1 5x4=20
¢c) For what value of B, Az[B B is a
(c) 2 B+l wore il PR Ted fal (R i wife)
symmetric matrix? | ; ;
(a) Find the extreme value of the following
function :
pa o e A 4<|P B 1| ot e
i bl el R v w4 T R 9
(o 2'97? Z=e**_2x+2y%+3
( Turn QOver )
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(b)

()

(6)

Calculate the 3x3 matrix A= (aij)3x3
with a,-j = 21—J .

A=(a,j)3x3 m ﬁ"‘ﬁ || ﬂ'ﬁ
a,_-,- =2i—j 29 |

Show that the following function is a

homogeneous function of degree 5

WWW@%WWW{%
myed -

3 3
X -y '
XY =——
f( y) x1/2+y1/2

2

L

(e)

4. Answer the following questions :

For F(y, x)=0, is the following implicit
function defined around the point
(y=3,x=1)?

Fly, x) =03 9@ oo© il wfEe F=-o!
(y=3, x=1) RS 7HE?

x® - 2x%y-3xy® -22=0

Show that the following function is
continuous but not differentiable at

x=2 "
wre gl Tl x =2 Re iR (e
a1 Ged

filx)=2—1; = x <2
=2x-3, x=22

10x4=40

(d) Using the properties of determinant, 4
show that oo firt eppTgRd Ted il
CICET] (@) A monopolist produces his product in
B G kU two different plants and his total cost
functions are given by
1avntal i ). :
b ﬂg=20—m1+503
a C|= [a i b](b - C)(C = a) ;
a® p? 2 TC, = 40 -8Q, + 03
l ( Turn Over )
e ( Continued ) A23/753
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If the average revenue function is given ‘ (b) Analyze the following market model for

|
U ility : 10
by AR=40-Q -where Q=0Q;+0Q,, “ stability
then find profit maximizing outputs I oS fEt IwR KGR el ReEd = b
‘and maximum profit. 5+5=10
I Qp =10-5P
T ORI el 75! fon a5 Sesrm il Qs =-10+20P
! AR o W FEA 2 ! ' d
® EE =3(@p = Os)
t
e
TCl =20 '—4Q1 +§Ql
Or | 94t

TC, = 40-8Q, + Q3

Solve the following simple market

I s Wy FEw AR=40-Q I'o | model by (i) Cramer’s rule and
Q=0,+Qy =, (Tw TE® e TE=Fa ' ; (i) matrix inversion method : 5+5=10
o IR O AR 1S ety =41 | weTe fmt HeE IwE SIEG (1) @ N

wE (i) ofoERm @EEw SRl T

Or /| 9331 41
| Qp =a—-bP
Find the only possible solution to the 1 Qs =-c+dP
problem '; Qp =0s

Maximize x2y3z subject to X+y+z=12 10

(c) 1f the cost function of a firm is
x+y+z=12 df\SFs gt x2ysz C = L +2K and the production function
TR TE® I g GG T . is Q:LK,thenfmdthevalueofLand
g 41 : K so that 50 units can be produced at
minimum cost. 10

( Turn Over )

i A23/753
A23/753 ( Continued ) ‘



A23/753

( 10 )

I g3 TRAME AP I T
C=L+2K SIF ST ¥ Q =LK 7y,
(o3 50 Bl Colff T IR SeeAr A L
e KI A9 o909 279 Aifew, Sfrer

Or / %4

A price discriminating firm of monopoly
market has the following demand
curves and cost functions. Find the—

(i) profit maximizing outputs;
(t) profit maximizing prices;
(iii) maximum profit;

(iv) elasticities of demand of the two
price discriminating markets.
4+2+2+2=10
™ RSPS9 PR TR S
AP BiRRA @ WIF W T ooe
@R | ey a—

() TS =S ST Besfiry sifimye
(ii) ST TS TEPia wq
(iti) I =
(iv) T 7 RAFS  TmE o
oz

- B =60-40Q,
B, =42-30,
C=50+12©, Q:Ql.;_oz

( Continued )

|

&

(d)

A23—6000/753
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Given the demand and supply function

~ for the Cobweb model as follows, find

the intertemporal equilibrium price and
determine whether the time path is
convergent or divergent :

e il TeamE wikd sifRm o Qe
TR #[ TSRS Sy w1 e Tt =i
A sifooht Sfeal @ weRRl 29, ey
4 !

Qpt =18 -3P,

Qst =—-3+4h

Or [ =24t

10

Solve the following two equations : 5+5=10

oo firt AR YO Y 4
(i) %+5y=10, y(0)=6

(i) Yp1 +3Yr =2, yl0)=5

* kK
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